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Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.
{10 Digits) in the OMR Answer
Sheet.

2. W qurve g ¥l # B 2. Candidates are required lo give their
I &1 answers in their own words as far

as practicable.

3. e 3R B W 2} g 3f@ qoif 3, Figures in the right hand margin
Fifgee avit &) indicate full murks,

4, HE W g & [ 4. 15 minutes of extra time have been
gRlenfegl &t 15 B @1 Hfafer arg allotted for the candidates to read
feem Ty &1 the questions carefully.

5 gF w¥ yﬁﬂﬂﬂ xt sl 7 #— WUE-I 5. This question baoklet is divided into
Uy avg-u/ two sections — Section-A and

Section-B.
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YUy - A / BECTION - A

URFTS e / Objective Typo Quostions
v Hear 1/ 70 9 O wRiw gy & ary 9w e Ao e &, Rt 7 o adt &
T} e g T 4R Prwew wt omg vz wr fafes wE Reet as wvEt ar s §

35x1=35
Question Nos. 1 to 70 have four options, out of which enly one is correct. You have to
mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. AWARR 3G o T &

W B (B) UEEE

[C) TR D) W

An exnmple of amorphous solid is

(A)  Dinmond (B}  Graphite

(C)  Sult (D) Rubber
o, affiFdl Cllghr <ot w1 T

v leoholic
(A) CHy=Cll, (B]  CH,ClI,0H
(C)  CHyCH,0CH;CH, (o) T A B W
[th i HqBr —KoH_, Is

The product of the reaction Cylig Alcohalle

(C)  CH,CH,0CH,CH, (D)  none of these
3. R fren e ¥ e araws e Bk 2

() Foe g () fowet RS

jof  Wfsad FES () e =
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Photographic film plate has an essentinl ingredient of

(A} silver nitrate (B)  silver bromide

(€ sodium chioride D) oleic acid

& wie 7 sl & forg an wa o Racie F) g0 wom g & 2
Aw

_M T D) i

The unit of rate and rate constant is same for the reaction of which order ?
(A)  Zero (B) First
(C)]  Second (D) Third

5. [ o feed Gediw e ahRaT e & 2
(Al HCHO - (8) CH,-0-CH,
(C) CgHCHO | (D) CH,CHO

Which of the following undergoes aldol condensation reaction ?

(A) HCHO (B} CH,-0-CH,
(C)  CgHCHO "~ (D) CH,CHO

6. 9 IniET i stfiar @ HflRaT w0 99w §
(A)  NH,CI ' (B)  N,+HC

lC} Nz+NH4Cl . ‘Dl N2+N013

Chlorine reacts with excess of ammonia to form

wod Apnysqasq mmm//:sdny

“(A)  NH,Cl Lo (B) N, +HCl
‘Cl Nz +NH4C1 lD) N2 + N‘Cla
| 118 | B {{A)-9005-Bpy Page 4 of 28
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adl W 28w i wlar ko

7.
A ke B R
W e ) e
Which s nat afected h\ tﬂllll{'”l“l"‘ W
1AL Normalhty (1) Moy
(1 Mokuity (1) Paormadity
8. werrer i wd diurs N ufeafl @M A fen anewa i ol mdh B
(- afe 3w gy Rk gl
=
3 ©  alww sl w) e gl o fnfinr 3wl
é The minimum amount of energy requitel to convert reactunt maleculon into
= procluets is
=
@ (A) Rinetic enetpy (1)  Potential enerpy
o
“éi (C)  Activation energy (D) Kinetic enerpy | Potentind energy
=%
PEC Ui sifvraier 3 s s gealrn O @ t/mol) o
o]
= (A} 20-40 M) 40-60
(C)  6D-80 ) A40-100
In physical ndsorption the approximate hieat encrgy evolved In o /mal by
(A)  20-10 ) 4060
(C) 60-80 D) 40-100
10, §y2 Feafafe 3 Frator g &
(A) T HARET By UwTIOr 31wy i
(C) R T W (D) W e uit
[118 ] B (\)-9005-Bua Page 5 of 28
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mation of

Sy 2 mechinism proceeds via for
(B} Transitio

n ot

{A) Carbocition
(D) Carbanion

(C) Free radical

- = -~ - . X
ﬁ'ﬂnzim-mmmn&zmn ?
-— - C"I"‘:,
[A)  CHCly (B CoHs 0-C;2
D) CH,CH,0H

(C}) CCl,
in water ?

wing compounds is soluble

Which onc of the follo
c H, -0-Calls

(A) CHCl, (B)
CH,OH
© ccl (D) CHa="2
' o e & € 2 =Y
12. mﬁaw(—c-mmwm W S
d =
2
(A) sp ((‘B/l sp : é
D 3d s
c sp’ (D) sp -
o) o
The hybridisation of carbon in carbonyl group (= C =0 ) is %
B) sp’ &
(A} sp ;
© sp’ D) sp’d =
13. wHfegerse FI NaOH 3 e % @Y T A T B §
() T 3 B wiEA
) Bfae e © p) e WOl
Formaldchyde on heating with NaOH solution gives
(A) Formic acid ' (B) Acetone
(C) Methyl alcohol (D)  Ethyl formate
T e
[118]B (A)-9005-Bi32) Page 6 of 28
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M sl - N G an g b

) ek wy  frie

(€ FRe aelwe (L) % 0w el
. .« - "10‘

The product of the reaction C ;N = N Cl———> in

(A} Aniline (B)  Phenol

(C)  Mecthyl alcohol (D) nonc of these

15. Twmiw afuvitaor 5§ feesit wed gl § 2
(Al T B v

€ ¥ D) A

How many lnyers are involved in chemical adsorption ?

(A) Onc (B) Two
(C) Many (D) Zcro
16. e, et @ Foreds v afifrm s v e & 2
A OfeefcsRs (B) Ufwes
© uwnifesegs (D) TERRSR
Bakelitc is obtained from phenol by reacting it with
(A)  Acctaidchyde (B) Acctal
(C} Formaldchyde (D) Chlorobenzene

17.  Iraraars AT K, (NCN) ) 3 Frbe @) sifaiton s @

(A 0 B +1
€ +2 o -1

wod Apnysqasq mmm//:sdny
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In co-ordination compound K 4INI(CN), ], the oxidntion stutc of nickel is

A 0 (B +1
C +2 o) -1
18. W I ag § )
(A} CHNH, (B)  (CeHs)NH
(C)  CH,NH, (P}  (CH3)NH
Which is the most basic ?
(A CH.NH, (B)  (CeHs);NH
(C})  CH,;NH, (D}  (CHy),NH
19. HRRERIEH IenteTer o W T &
(A} ChHyp, OH - | {B)  CqHjy,,,0H
(C}  C,H, OH D) T QA wE &
The general formula of monchydric alcohol is
(A)  C.H,,.,OH (B)  ChH;,,,0H
(C)  CH,,OH (D)  None of these

20. 3y FrAfiae o A fewm s 2

wod Apnysqasq mmm//:sdny

th) T ® Fera
© ¥ (D) ¥ ¥ B
Milk is an example of
(A)  emulsion (B)  suspension
€ sl D) none of these
[118]B [(A)-9005-Bjaz)| Page 8 of 28
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21, W Berem s & ?

(A) Sn M ¥Fb
(C) Si M A
Galenn is an ore of
(Al Sn B3) Pb
€ i (D) Ag
22.  ¥fufiwm oncit, - (CHOH), - CHO—E2— o 11 Iears R
(A) W (B) n-Ea
(C) Te[@ifa 30T o) ¥ & FiE A
In reaction OHCH, — (CHOH), - CHO—2....... ... , product is
(A)  Fructose (B) n-hexane
(C)  Gluconic acid (D) None of these

23. P A A fFad pr-dn AT ?
(A) NOj (B) C€O3"
() BO% (D) SO32~
Which of the following has pr-dn bond ?
(A) NO3 (B) CO3”
() BO?% (D) SO3"

24, o 16 %F A BEENA &

wod Apnysqasq mmm//:sdny

Ax) A ' (B) R
() HEAY T ' D) I W
[ 118 | B [{A)-9005-Bu2) Page 9 of 28
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The elements of group 16 nre known an
(Al Halogens (8)  Chalcogens

([C)  Transition clements (D)  Noble pases

25, WM R SR o Ieaam SR SRl Wi SO a7 R

(A} Ni (B) Cr

(C) Fe Dy Mn

The clement showing highest oxidation state among first transition serics is
(A} Ni (B} Cr
(C) Fe (D} Mn

26. e 3 4 e o d o T TR fE FU R WA £ 2

ke B) URARS

wod Apnisqasq mmm//:sdny

(C)  HHA Ui (O} 1 Ug
In which of the following clements 4f energy level is gradually filled ?
(A} Lanthanides (B} Actinides
(C} Transition metals (D) Coinage metals
27.  Ky[Cr(C,0,):] ¥ Cr W Suwgwanm @@ &
{A) 3 B) 4
& S D) 6

The co-ordination number of Cr in K3[Cr{C,0,),] is

@ 3 B) 4
€ S ) 6

[ 118 1 B [(A)-9005-Bpa] Page 10 of 28
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LIRS of ) _I-Hl IT:I

-./‘(

A)

) W|YTEE o) & W oeek

The Electromotive force (EMF) of the cell for the cell reaction at equihibrium

state is
(A}  positive B) zcro
(€] negative (D)  none of these
> 0. Hiowan e & O SEET § 9 41 -
2 3
< (A)  HCHO (B) HCOOH Z
£ <
é (C) CH;COOH (D)  CH,;CHO é
o N . . =
4 Drv distillation of calcium formate gives 2
o o
2 (A} HCHO (B) HCOOH 2
& o
= (C) CH,COOH (D) CH;CHO =
= )
3 30. A B3R ¢l ® qEE W98 favE O wEE: + 0-68 V, -2:50 V 3R - 0-50 V =
¥ ITHT TG Uk HT FH &
) A=>B>C B A>C>8B
(C) C>B>A (D) B>C>A
The standard reduction potential values of elements A, B and C are + 068 V,
-2:50 V and - 0-50 V respectively. The order of their reducing power is
iA) A>B>C (Bf A>C>B
(C) C>B>A (D) B>C>A
[ 118 } B [(A)-9005-Boa Page 11 of 28
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31 §au@n k2

(A)  anawge i AT
(c) Wi iy | A
What is an cnzyme ?

(B) Lipid

{A)  Carbohydrale
(D) None of these

(C}) Protein
90 WEERS A I Wizw fwar ST &
W HA-Ieead faf gr ) g fea &721

(€} 99H W (D) i & wH T

Sulphidc ores are concentrated by

(A)  Froth floatation process (B) Electrolysis

(C)  Roasting (D) none of these

33, feeeer wwma g Al €

wod Apnysqasq mmm//:sdny

) faema b (B) MY H
c UeH (D) @&l H
Tyndall effect is observed in
(A)  Solution (B) Precipitate
(C) Sol (D) Vapours
34, Cfewel degs Td wifsan v & dia awiear s &
(A) & v (B) HIe sffirar
©f T S D) T /WA
[118] B__ﬁ;)-goos-Bma Page 12 of 28
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alkyl hahde and sodimm metal s calied

AV Wurnta reaction B Kolbe's reaction
() Clemmensen's reaction (D) None of these
Mo ICHHH0),C, 1 UEE Y Crwd st T b
(A) o\ B) +3
i) 5 D) +6
The oxidation number of Cr in the complex [Cr(H,0),CL, |* is
A} +1 B) +3
€ +5 (D) +6
X
36.  iwfw 2@ + 2Na—i5_;+ 2NaX T HEd &
A Twfen afwfem B T Afufirn
€  TH-fefen afufim (D) wWe i
Reaction 2@ + 2Na -cther | Q @ + 2NaX is known as
(A) - Fittig reaction (B) Wurtz reaction
(C)  Wurtz Fittig reaction (D)  Kolbe's reaction
37. T = Aereme feens F Prfefan § few sfvfen T shafin fea
AME ?
A) 343 A . (B) W afsfimar
© e s oy ¥ s
| 118 | B [A)-QOE?-BR?I Page 13 of 28
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ed i
. cOnve riet
By which of the following reactions Phenol 18

(A) Erard reaction {H)

‘g reactian

annizzare
(C)  Reimer-Tiemann reaction my o
38. mﬁmmﬁaaﬁwm?ﬁmﬁmg ?
(Al HC) Bf CHCly +KOH
(€) NaOH D) CHCL
Primary amine is detected by
(A} HCI (B)  CHCl; + KON
(C) NaOH (D)  CHCly
39, it A §
&
(A faf= (B) TEH
(€ piCA ] (D) A S
Ascorbic acid is a
{A) Vitamin (B Enzyme
(C)  Protein (D)  Amino acid
40. °% T3 A IR F A9 H T A L, FEAA L
(o EorC i B dEgwRt
) st D) AT
[118 | B |(A)-9005-Ba] Puge 14 of 28

https://www.bsebstudy.com

1o sulicyl nklchm"-‘.

wod Apnysqasq mmm//:sdny



41

https://www.bsebstudy.com
A substance which lowers the body temperature is known as

(A Antipyretic {B) Analgesic

(C) Antibiotic {N) nhonc of these

W W Aa AT WO R el e R e tem o 2o ads a2

R R 2
(A)  ¥iiZE g (B) Théet T
(C)  F-centre - D) ™ W B A4

When an clectron occupics the empty space of negatively charged ions, then the
deteet in crystal is

=
]
é (A)  Schottky defect (B)  Frenkel defect
§_ (C) F-centre (D)  None of these
oL
o
2 42.  CalNO,),H a2 %1% TV ¥ ¥
&
Py Ay 1 B 2
o] . .
= © 3 D 4
The van't Hoff factor of Ca(NO;), is
(A) 1 B) 2
C) 3 D) 4
43. WFYE IR 76 399 FO R
(A) TN (B) DNA
4o et (D) ¥REMRR
[ 118 | B [(A)-9005-Baz Page 15 of 28
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The human body does not produce

A ‘nz
(A} Enzyme (B)  DNA
€) Vitamin " (D} Hormones
4. Znls) | Zn*'(aq) || Cu®(ag)| Cu(s) &
(A & A . JJ; et T
(C) el qer (D) ¥ @ wid
Zn(s) | Zn*'(ag) || Cu®'(ag)| Culs) is
= (A)  Weston cell (B) Daniel cell
5
g (C)  Calomel cell (D) None of these
=
§ 45. CH,CN & 37y § WIS g &
=3
§ (A)  CH, (B) CH,COOH
wn
g (C)  C,HgNH, (D) C,HsCOOH
<
g CH;CN on reduction gives
s (A) CH, (B) CH,COOH
(C) C,HgNH, (D)  C,H,COOH
46. WEY TAE I &
(A) HCIO, (B) HCl10,
(C)  HCIO, (D) HCIO
The strongest acid is
(A)]  HCIO, (B)  HCIO,
[118]B (A)-9005-B32)| Page 16 of 28
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- -

234205 IR F O E 33207 TH R T F =T T T AT 0

Al Ol B 20

<) 30 {D} $-0

23+:2 gm of sugar syrup contains 34-2 gm sugar. What is the molanty of the
solution ?

A 01 (B 20

) 30 O} 20

38, P wivhea o wE v Seletga S wS L 0

CHCL+0, X, . +HCI?

(A} CO, B) Ci,
) coci, D) ™ & @
Which one of the following is the main product of the reacton
CHCl, +0, 18 , -HC1 ?
A}  Co, (B} Cl,
(C) cocl, (D) None of these
49.  [UPAC Wl &} GERR & =1 ¥
W e B) U
(C) wREH D) RS
The name of acetone in IUPAC system is
(A} Mecthanal {B) Ethanal
(C) Propanone (D) Ethanone
50. TS R wH T =Y §
(A  H,0 ® o,
(C}] NaCl D) CH,

[ 118 | B [{A)-9005-Baa) Page 17 of 28
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; TILRL
The subnstance which exhibits paramagnetism |

A 10 m o,
(€)  NaCi ) Gt
51.  framer wwitr ) qamn o v &
(A et afvfien g @) Fiw A S g
(C) sigH-sezy aafEar gr ) T A B A
Methylumine can be prepared by  hitps:/www.bsebstudy.com
(A)  Wurtz reaction (B)  Hofmann bromamide reaction
(C}  Friede)-Crafts reaction (D)  Nonc of these
52. WY URRIR & G &
(A) CuFeS (B) CuFcS,
(C)  Cu,S (D) CuyFeS,
The formula of copper pyrite is
(A} CuFeS (B) CuFeS,
(€} Cu,s (D)  Cu,FeS, .
53. 0-01 M *W faeram &1 qern o 0.01 M MgCL, Faeram & fimies § sramm ¢
(A) WM (B) TN F
€ wmm g (D)  FN B e
In comparison to 0-01 M solution of glucose, the depression in freczing point of
0:01 M MgCL, solution is |
(A} same (B)  about twice
(C)  about three times (D) about six times
|118]B Tﬂ_-goos-num Page 18 of 28
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W23 3T FTA 3 W e )

(Al CH;3NO, (B)  CH,COOH

(€} CH,HCH,NH, (D)  H,NCHL,COOH
Which one is capable of forming zwitterion ?

(Al CH3NO, (B) CH,COOH

et fafy 3 urg & siewrs & ageas § v w b

(A) Al (B) C

€} Mg (D) CO

The process of smelting involves reduction of metal oxide with
(A) Al

€ Mg

B) C
D) co
UF 3= =i ) aiffma A+B—cHfamw e

A = k(AP B B) T = KkjA)|B|°
€ = = ka5 (D) ¥ q 13 T

The rate of zero order reaction A +B——Cis

(A)  Rate = K|A]%BP (B)  Rate= K|a}'|B)°

(€} Ratwe = kjAP g}

>
SR VTG LU R — ¥

(DY  noneof these

(A} CH,COOH (B)  CH,CH 2NHOH

(C) CH,CONH, (D) CH;CHO

Page 19 of 28
https://www bsebstudy.com
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The y
Product of the reaction CH N s i

W cHycoon W  CH,CH,NHOH
K onycomm ’ M) CHCHO
BT A W ey wat o g o k7
A F-F B C1=Cl
< 1~ (Dj Br-Br
Which of the following bonds is the strongest ?
A} F-F B Cl-Cl =
< 11 (D) Br-Br 2
59. ffm A wema e é
=
L . .
W Tt (B) e 2
o
© e ) JwrRE &
Vitamin A is known as §
(A)  Ascorbic acid (B)  Retinol
(C]  Califerol (D) Tocopherol
60. T WER Iaw | 9rar FEE U €
o da G
€ ®R (D) WifsEw
The metal always found in frec state is
(A) Gold {B) Silver
() Copper (D) Sodium

[1 18 | B _(A;-QOOS-Bm Page 20 of 28
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" At wn ataead aveat wrfvt B
AV W By wgaqpags (1) Mg e
DA gy () e
The beat way 1, Mrotect iron from runting im
(A) Mmaking jrap cathode (£3) putting it in saline watery
€ bowy (A) and (13) (D) none of these
o PNRD Py gl b
(A) Call,OCH, (8)  CH,0CH,
) eaoe,n, (D) 9 A Fid i
Which iy cthoxy ethane ?
A ¢, oen, B)  CHy0CH,
€ ¢ H,0C, 1, (D) None of these
63 P11 fgis Wreitfyran § 5
(A w@fE B)  watE
© W Gy O o,
Which of the following hag magnesium ?
(A) Chloraphyl) (B) Haemocyanin
(C) Carbonic anhydrase (D) Vitamin By,
o64.  Fiifeser s 4 W wiee 2
i)
@’ D'O? Sn¢HCI
(A)  C,H,0H B)  ChHgNH,
(C) CoHyCH, (D) CeH,
ﬁl 8 ] B (A)-9005-Byg Page 21 of 28
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The man product of the following reaction s

NO,
_Sn-HCL

(Al C,H,0H

{B‘ C‘.r}‘! 5 ";‘ Hd'

(€1 CeHsCH, D)  C,H,

63. ﬁ:ﬁaqﬁaﬁa#:ﬁm-‘ﬁwk ?

Ay FFE (B) TEWZS
() Fieow ware=ngz 4D) T E A
Which of the following is artificia) sweelcning agent ?

(A) Saccharin (B)  Aspartame
(C) Sodium cyclomate (D}  All of these

66. F= % =m-T wwaw wgeEw )
\JM/ wER (B) awH-6

(€ F-§ (D) s

Which onc of the following is natural polymer ?

(A) Prptci;l (B)  Nylon-6
(C} Buna-S (D} Terviene
67. EIEIEEA BHEAT (V) FANRE 5T w9 q7 &
(A)  [PuNH;),[Cl, (B)  [PuNH,), |CL,
(€} [PUNH,)L,Cl, (D) [PUNH,) C1,
(118 | B [(A)-9005-Baa Page 22 of 28
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The corree
et formula of hexamine platinum V) ehlazide in

a (] .

ANk, o1, B} [PriNH, L ICL
C : :

L LR TRER (DI [PUNH, | |Cl

TR ﬁ%ﬁ#h‘fmméma‘azmmk?

\LC}/ HIT (D) SiC

Which one of the following is an example of an amorphous solid ?

(3 NaCl (Bl  ZnS
69. mﬁﬁﬁqﬂmm‘qﬁ ?
(A) Q=] (B) PR EIE]
(C) m \_131/ WIS
Which onc of the following is a colligative property ?
(A) Viscosity (B) Surface tension
(C} Refractive index (D)  Osmotic pressure
70. 196 AR® & Al § g & fo e sy & svavasar g ?
(4 30~10°C (B) 2895x10%C
(C) 2895x10°C (D} 2895 x 10°C
How much charge is required for reduction of 1 mole of AP 10 AL ?
(A) 3-0x10°C (B) 2895x10°C
(C) 289-5x10°C (D) 2895~ 10°C
[118] B (A)-9005-Ba2 Poge 23 of 28
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TYE - 4 / SECTION - B

Y I W / Short Answer Type Questions

fraffea # - 10%x2 =20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each questio™

. - ?
cames 2 marks : 10 » 2 =~ 20

'

N e

X

e s A woeEE ane T 3 W 2
Differentiate between methanoic acid and ethanoic acid.

IR T W] T e w99 £ a2 2
Noble gases have comparatively large atomic radius. Why ?

w4 w1 Hfavifas zo1 = am e g 2 2
Glass is assumed to be a supercooled liquid. Why ?

T &A1 & I n-GiZ FARES Fi (ehleiicin KOH & Wig Wialhal &) s & 7

What happens when a-butyl chloride is treated with alcoholic KOH ?°

PH, ¥ NH, &1 H& H01 931 &1 41 7

Bond angle in NH; is greater than in PH,;. Why ?
Pttt aet-eme ST QU sfg

i)  CH3CH,CH,NH, + HCl—

1!] [C2H513N *HC‘ —

| 118 | B [{A)-9005-Bia) Page 24 of 28
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Cmplctc the following acid-hase reaction® :

i) cn,cn,(m,hn, + HCl--e ==
‘. i) (CatlshsN +HCl— )
1. 'z&az‘m&;wammﬁm-mwmt ?
What are the cxpected products of hy drolysis of Jactos€ ?
}/ ~an5 ren st vt § 2 TN T L -2
. Define double salts with suitable cxamples.
: 2

§\

wod Apnisqasq mmm//:sdny

e YRAR & HE-HE T %72
Who are the members ol halogen family ?

mﬁz-a:mm4m(a1w - 40) 1 W ¥ GIAHT 200 cm? a9 |

faem@m B RIETAT G BT ' -2
4 gram of caustic soda ( molar mass = 40 ) is dissolved in water and solution is

made to 200 cm? . Calculate the molarity of solution. https:/!wwW.bscbstudy.com

- 3T ol Y67 QOeH TN E ? 2
* What arc the main constitucnts of Dettol ?

. g iy 4 P S & o ) wifke e W € 2 SRS o

Which type of ores are concentrated by {froth lloation process ? G.ivc cxamples
fpeileT eSieet § 4RI FG ¢ F4T 2 |

Phenol is more acidic than alcohol, Whjr ?

| §18 | B [(A)-9005-Br2 Page 25 of 28
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LY

el Bl = g * c.':‘]:‘?:: 3 -:r:'-:-_;: Yy !‘-' IRt i ii.', tl:’ f;"%‘&'ﬂ =
71 5= ¥ s om £

HE L T

SRR ferms BCC orystal Calculate the atomic radius of Lathium if the lenih

ol -
ol the wide of a unet cell of Lithium 1s 358 pm

Transition clements exhibat vanable oxidaton state. Why 2

TRN T2 ¥ WWET T 3T G 0-0005 HE | B IR HNEA FOEGE
m;-;-r?:.?: 2

The rate constant for first order reaction is 0-0005 min”'. Calculate s half
bz, https://www.bsebstudy.com

\_LZ/ TR RS IR EEAC ?

2
What do you understand by secondary cell ?
18 EoEaE w ® WEOw Aa o 2

2! ViZ=23) (i) 2Zn(Z=30)
Write clectronic configuration of the following clements :
m  V(Z=23) i} Zn(Z=30)
jo. FEIEWIAFE FRFTT T WA SO FE SR 7

What are the factors which influence the adsorption of a gas on & solid ?

o -

e TEE - t1 w9 g |
20. mgq.qmﬁnmmh refenT

Methylamine is more basic than aniline. Give reason.

[1181B [Ar5005Bay) Page 26 of 28 .
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4 3 e / Long Answer Type Questions

question ecarrics S marks :

I3x5=]15
2. ) TFUETRT IR S Wk fafyy 5 faer R
b)  E W F A R e R stfra g 3+2
a) Write the principle of manufacture of sulphuric acid by contact process.

b) Write the reactions of concentrated sulphuric acid with oxalic acid.

a) YR diiz w sl & P nfiy Rerie @ o [ 98

by UTRROT 3R ferweur o ool & ) 342

a) Derive an expression for the rate constant of a first order reaction.

b) Whalt is the difference between osmosis and diffusion ?

A3, w) R B WY —

i) Y R Iuieta F e s @ affie difteas @ @ g o
i) 30 & IufRfl O dune Witz W oW swen R WA E 2 1+ )

b  rafafee skegedlotodte A e difml W dramt fafgw ;. 14149
i) 2.
ii) N, N-STAE g
i) 2-THAIRITE

a) What happens when —

i) Methyl bromide is treated with sodium in presence of dry ether ?

ii) Ethyl acetate is hydrolysed in presence of acid ?

[y
T
oc
ve)
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b) Write the structures of compounds whose IUPAC names arc as follows :

i) 2-Butanol

1) N, N-dimethyl methanamine

1ii) 2-Aminotoluenc.

24. @)  HF, HCl, HBr Td HI § Ha§ Wae 3G&HH 6 € 2 2
b Fsfenga staimmaei & gl i 1%+ 1%

i) CpHy +0;—2—»

iiy 4Al +30, —2—»

a) Among HF, HCI, HBr and HI, which is the strongest reducing agent ?
b) Complete the following reactions :

i} CyH4 +0p——

i) 4Al 430, -—

25, o)  FEM W FE 2 d I S

ST A ETETEE UnA S 91 A € 2 T 3T A

wod Apmsqasq mmm//:sdny

b)

2+3
a) What are artificial sweetening agents ? Give two examples.
b) What arc essential and non-cssential amino acids ? Give cxamples of

cach type.
Q6. FFIE 3G | A T GHA € ? AT AR 791 g F SR & 9 HeY
v . 5
wgifad &7
What is elevation of biling point ? Find the relation between clevation of balling
point and molar mass of solute. https://www.bsebstudy.com
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